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In RAD model, information
gathered in business
modeling phase is reviewed
and analyzed to form sets of
data objects vital for
business in

Buisness
Modeling

Incorrec
t

Process
Modeling

Incorrect

Data
modeling

Correct

Deploym
ent
Modeling

Incorrec
t
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MC

The principle of Albrecht’s
function point analysis
(FPA) is that a system is
decomposed into functional
units. How many functional
units are there in it?

Incorrec
t

Correct

Incorrect

Incorrec
t
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MC

Internal logical files and
external interface files are

Data
Function

type

Correct

Transactional
Function type

Incorrect

Non
Functiona

type

Incorrect

None of
the
mentione
d

Incorrec
t
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MC

Consider a with the
following functional units:
Number of user inputs=60,
Number of user outputs =
40, Number of user
enquiries=35, Number of
user files =6, Number of
external interfaces= 04;
What will be the value of
UFP by considering that all
CAF and weighting factors
are average?

628

Incorrec
t

1028

Incorrect

668

Correct

776

Incorrec
t
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MC

Consider a with the
following functional units:
Number of user inputs=60,
Number of user outputs =
40, Number of user
enquiries=35, Number of
user files =6, Number of
external interfaces= 04;
What will be the value of FP
by considering that CAF is
1.07 and weighting factors
are average?

715

Correct

672

Incorrect

772

Incorrect

615

Incorrec
t
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MC

An application has the
following : 20 low external
inputs, 12 high external
inputs , 10 low internal
logical files, 15 high
external interface files and
12 average external
inquiries and the value of
CAF is 1.10. What will be
the value of unadjusted
function point?

452

Incorrec
t

462

Incorrect

412

Correct

512

Incorrec
t

34

MC

An application has the
following : 20 low external
inputs, 12 high external
inputs , 10 low internal
logical files, 15 high
external interface files and
12 average external
inquiries and the value of
CAF is 1.10. What will be
the value of function point?

497

Incorrec
t

597

Incorrect

557

Incorrect

453

Correct
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The number of people
required for a software
project is determined

by the
size of
project
budget

Incorrec
t

after an
estimate of
the
development
effort is made

Correct

from an
assesmen
t of the
technical
complexit
y of the

system

Incorrect

All of the
mentione
d

Incorrec
t
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MC

Suppose that a project was
estimated to be 300 KLOC.
Calculate the effort for
organic mode.

1295.31

Incorrec
t

957.6

Correct

1395.31

Incorrect

857.6

Incorrec
t
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MC

Suppose that a project was

estimated to be 300 KLOC.
Calculate the development

time for organic mode.

38.07

Incorrec
t

33.94

Correct

48.07

Incorrect

43.94

Incorrec
t
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MC

A project size of 200 KLOC
is to be developed. Software
development team has
average experience on
similar type of projects.The
project schedule is not very
tight. Calculate the average
staff size of the project.

32.67

Incorrec
t

34.44

Incorrect

38.67

Correct

43.26

Incorrec
t
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MC

A project size of 200 KLOC
is to be developed. Software
development team has
average experience on
similar type of projects.The
project schedule is not very
tight. Calculate the
productivity of the project.

176

Correct

136

Incorrect

156

Incorrect

186

Incorrec
t
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In Intermidiate COCOMO
Model, complexity of the
product is a part of

hardware
attributes

Incorrec
t

product
attributes

Correct

personal
attributes

Incorrect

project
attributes

Incorrec
t
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In Intermidiate COCOMO
Model, programming
language experience of the
product is a part of

hardware
attributes

Incorrec
t

product
attributes

Incorrect

personal
attributes

Correct

project
attributes

Incorrec
t
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MC

A new project with
estimated 400 KLOC
embedded system has to be
developed. Developers of
low quality but a lot of
experience with the
programming language.
What is the value of effort
estimation?

3528 PM

Incorrec
t

5528 PM

Incorrect

3458 PM

Incorrect

4528 PM

Correct
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MC

A company projecting
revenue of 64 lacs in first
year and the revenue is
going to increase by 25%
every year for the next 3
years in succession, after
which revenue decreases
by 20 lacs in the fifth year
and thus will be closed
after 5 years. The fixed
initial investment for the
project is 120 lacs and
working capital
requirement is 60 lacs.
Compute payback for the
project .

3.553
years

Incorrec
t

3.853 years

Incorrect

2.853
years

Correct

2.553
years

Incorrec
t
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MC

A company projecting
revenue of 64 lacs in first
year and the revenue is
going to increase by 25%
every year for the next 3
years in succession, after
which revenue decreases
by 20 lacs in the fifth year
and thus will be closed
after 5 years. The fixed
initial investment for the
project is 120 lacs and
working capital
requirement is 60 lacs.
Compute ROI for the
project .

43.67%

Incorrec
t

22.67%

Incorrect

33.67%

Incorrect

32.67%

Correct

45

MC

A company projecting
revenue of 64 lacs in first
year and the revenue is
going to increase by 25%
every year for the next 3
years in succession, after
which revenue decreases
by 20 lacs in the fifth year
and thus will be closed
after 5 years. The fixed
initial investment for the
project is 120 lacs and
working capital
requirement is 60 lacs.
Compute NPV assuming
12.5% discount rate for
the project .

Rs.
14463300
0

Incorrec
t

Rs. 14663000

Correct

Rs.
13463300
0

Incorrect

Rs.
14466600
0

Incorrec
t
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